H & 0l & AHS B Ml A

AN SEXE D
3 sEUHE=Y
ol ey dEsgeE |4 (SH9 H2)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
sEXJ1L 4,910,213 4,753,472 186,741
= 769,966 769,966 0
z 4,000 4,000 0
< 352,418 306,338 46,080
= 3,783,829 3,673,168 110,661
SEUEFY 4,738,845 4,622,745 116,100
= 769,966 769,966 0
z 4,000 4,000 0
< 352,418 306,338 46,080
= 3,612,461 3,542,441 70,020
sEtd d2sgels 54 151,335 147,735 3,600
< 14,084 13,004 1,080
= 137,251 134,731 2,520
sSEXNCAE 28 W= 2,100 0 2,100
< 630 0 630
= 1,470 0 1,470
201 fer= 3| 2,100 0 2,100
< 630 0 630
s 1,470 0 1,470
01 At22t2l] 2,100 0 2,100
osENEA ¢4 X 2,100,000 2,100 0 2,100
[ 630 0 630
= 1,470 0 1,470
4H 2HD= KF 1,500 0 1,500
< 450 0 450
= 1,050 0 1,050
301 LEENS 1,500 0 1,500
< 450 0 450
o 1,050 0 1,050
11 #HAIAHIXIR S 1,500 0 1,500
o4HalE Lddus FHZ43
100,000 x 159 1,500 0 1,500
[ 450 0 450
= 1,050 0 1,050
FEsgel |4 813,500 701,000 112,500
< 100,800 55,800 45,000
= 712,700 645,200 67,500
FEsgol Y ALY N 112,500 0 112,500
< 45,000 0 45,000
= 67,500 0 67,500
402 RIZEAHZ01H 112,500 0 112,500
< 45,000 0 45,000
s 67,500 0 67,500

- 331 -




2A: sEXE
M. SEQERY
te. dEsgel 54 (St &)
SA - B GR(31) - HIRAY - BES ol &k ol @ o HimE=T
02 QIZIAHEAIE B A (OIMTHE) 112,500 0 112,500
oFHUESOl HY AN XA
150,000,000 *1JH A %75% 112,500 0 112,500
== 45,000 0 45,000
= 67,500 0 67,500
HREs(=s=X31) 43,326 2,685 40,641
=FSONES 43,326 2,685 40,641
=PSPNES 43,326 2,685 40,641
802 Btet=a 0| EF 43,326 2,685 40,641
01 2NEx3bts=2 26,493 0 26,493
C0XHAHE 0|8 HYAS AUHsE(0IXH)
10,588,050 10,589 0 10,589
o2023E HAsHERXXIAS
15,903,910 15,904 0 15,904
02 Al - SHIEXZBE =2 16,833 2,685 14,148
oi3E sHAMY MY TP 2 AZ35}
A 2,422 ,000& 2,422 0 2,422
o20238 HHIISE JI&sIH EHE K&
138,240 139 0 139
o023 HAHE HE=sHOIRH
2,661,580& 2,662 0 2,662
o20238| HHE QEKFHE0k
2,405,100& 2,406 0 2,406
C0XHHE Ol8€ HYAS LUHsE(0IXH)
1,516,220& 1,517 0 1,517
o2023E AsHERXI XA
3,180,780& 3,181 0 3,181
o20284 H=s LS HS KA
1,650,230& 1,651 0 1,651
o2023E HsAMHELES XRAAIY
169,990& 170 0 170
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